Algebra 1 Name:

Rate of Change A Date: Period: ___
Wairm-Up

f(x) = -2x + 4 alx) =3-1 hix) =x2+7
l.h{-3)=__ 2.910)=____ 3. f(x)=-10; x=_____ 4 fl4)-gllj=_
REMINDERS
Rate of Change: describes how one quantity as anotner quantity

Average Rate of Change Formula:

Positive RCC:

Negative ROC:

Linear functions have a rate of change, meaning values increase or decrease
at the SAME rate over a period of time.

Non-Linear functions DO NOT have a constant rate of change, meaning values increase or
decrease af different rates over a period of time.

Horizontal Lines have raie of change.

Vertfical Lines have rate of change.

SLOPE BETWEEN TWO POINTS |
1. {4, 6) and (-2, -4) 2. (7,5) and (7, -8) 3. -5, 10) and (1, -2}

TABLES

Find the slope of the line represented by the table. Then describe the function as increasing,
decreasing, horizontal, or vertical.
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RATE OF CHANGE OVER INTERVAL

1. t(x) = 3 - 2x over the interval {2, 3].
2. k(x) = 3x + 4 over ihe interval [-2, 3].
3. k{x) = 3x + 4 over the interval [4, 6].
4. g(x) =0.5<over the im‘érval [—_1, 0].
5. gx) = 0.5 o.ver the interval [-3, 0]. |

WORD PROBLEMS

1. The table shows the cost per pound of Granmny
smith apples.

Describe the rates of change show by the data.

Weight (Ib) 1 2 3 4
Cost ($) 1.49 | 2.98 4.47 596

Describe the rate(s) of change shown by the
data.

3. The table shows the distance of a courier from
her destination.

2. The table shows Gabe's height on his birthday
for five years.

Age 9 11 12 13 15
Height(in) | 58 | 595 | 615 | 65 | 49

Find the rate of change during each fime interval.
9-11vyears: '

11 - 12 years:
12 - 13 years:
13- 15vears:

Describe the rates of change shown by the data.

Time (PM) 2:15 2:30 | 245 | 300

Distance {miles) 5.4 3.4 5.0 0.5

When did the greatest rate of change occure

What is the rate of change from 2:15 PM {o 2:30
PMe What does this rate of change mean?g

When was the rate of change the teost?

During which two time periods were the rates of
change the same? :
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Linear functions have a (O NS TAN T rate of change, meaning values increase or decreose
at the SAME rate over a period of time.

Non-Linear functions DO NOT have a constant rate of change, meaning values increase or

decrease af different rates over a period of fime.

Horizontol Lines have: @ rate of change.

Verfical Lines have WA dih\(\«(,d rate of change.
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Find the slope of the line represented by the fable. Then describe the function as increasing,
decreasing, horizontal, or vertical.
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RATE OF CHANGE OVER INTERVAL
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WORD PROBLEMS

Write the correct snswer,
1. The table shows the cost per pound of
Grarny Smith appies

[ Welght {H:;) P o
Cost ($) 191 208 4‘_477.2}?:9@%

Describa the rate(s) of change shown by
the data.

M= L4

3. The table shows the thstance.of 2 courier
from her destinalion

(5:15
54 |

Time {p.m.)
Digtance (mi)

230} 2:45  3:00
54450 :05

What is the rate of change from
215 pan, 1 2:30 pan.T What does
thie rate of change mean?
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2. The table shows Gabe's helght on his
birthday for five years. Find the rate
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When was the rate ut change tha least?

vl ages 4 and |1 (016)

During which two time per.ods wera
the raes of change the same?

tw] ages 1/l and 13]1S




